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. Which kind of Ig could across placenta and showing the largest levels in normal serum

(A)IgG (B)IgD (C)IgA (D)IgE

. Bactrial septic shock is a condition of  (A) TNF-a (B)IL-1 (C)IL-1 and TNF-a (D)

IFN-y, cytokines overproduction.

. What kind of cytokines could decrease the hypersensitivity levels by decreasing IgE

production (A) TNF-o (B)IFN-y (C)IL-4 (D)IL-1

40. Cells that are in a nondividing state are in which phase? (A)Gy B)Gy (O)G;

41

42

(D) S

. Where does filtration occur in the nephron? (A) glomerulus (B) renal tube  (C) loop

of Henle (D) collecting duct

. Selective reabsorption of components of the filtrate occurs where?  (A) Bowman’s capsule

(B) glomerulus (C) loop of Henle (D) ureter
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43. Water is removed from kidney filtrate by the process of  (A) diffusion (B) active
transport  (C) facilitated diffusion (D) osmosis.

44. Urea forms as a breakdown product of  (A) nucleic acids (B) simple sugars (C)
saturated fats (D) proteins

45. Filtration moves into kidney tubules.  (A) water (B) fiber (C) proteins (D) uric

acid crystals

46. To induce full cellular effects thyroid hormones also require the actions of (A)

adrenocorticotropin  (B) retinioic acid (C) melatonin (D) somatomedins

47. The pancreas secretes hormones involved in regulation of (A) blood glucose (B) the stress
response (C) metabolic rate (D) growth and reproduction

48. Which of the following is found primarily within the hypodermal layer of the skin? (A)Adipose
tissue (B) Nervous tissue (C) Blood vessels (D) Hair cells

49. Which organ system is primarily involved in protection and thermoregulation? (A) The nervous
system (B) The digestive system (C) The immune system (D)The integumentary system

50. Osteocytes are found within ~ (A) Trabeculae (B) lacunae (C) Canaliculi (D) Periosteum



